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. PreLab 5 - Centripetal Fome

1. A caris traveling 5 m/s East Ten seconds Iater |t is traveling 5 m/s North What
is the magnitude of the change of the velocity of the car?

c A. zero

oB.5m/s
©C.7.07m/s

oD. 10 m/s

¢ E. none of the above

2. What was the magnitude of the average acceleration of the car" (m
meters/second”2)

cA.0O

cB.05 -

c C. 0.707

cD.1.0

¢ E. none of the above

3. How did the driver change the car's velocity?

c A. the driver stepped on the accelerator
¢ B. the driver stepped on the brake pedal
¢ C. the driver turned the steering wheel
¢ D. the driver turned on the turn signal

¢ E. none of the above

4. When an object moves in a circular path at constant speed,

¢ A. the velocity doesn't change, since the speed is constant.
¢ B. the magnitude of the velocity increases

¢ C. the magnitude of the velocity decreases

¢ D. the velocity changes since its dlrectlon changes

© E. none of the above

5. The direction of the velocity of an object moving in a cwcle at constant speed is
c A. always tangent to the circle
o B. directed along the radius toward the center of the circle
¢ C. directed along the radius away from the center of the circle -
¢ D. in the same direction as the acceleration
o E. in the same direction as the net force

6. The direction of the acceleration of an object moving in a circular path at
constant speed is
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o B. in the direction of the radius towards the center of the circle

¢ C. in the direction of the radius away from the center of the circle
¢ D. in the same direction as the velocity vector

¢ E. none of the above

7. The direction of the net force on an object moving in a circular path at constant
speed is : :
¢ A. nada, since the net force is zero at constant speed
¢ B. in the direction of the velocity
o C. toward the center of the circular path
¢ D. toward the outside of the circle
¢ E. none of the above

8. At the playground, little Suzy is on a rapidly spinning "merry-go-round®, and is
holding to a rail on for dear life in order to keep from flying off. The direction of
the net force on Suzy is
O A. tangent to her circular path
o B. toward the outside of the merry-go-round.

o C. toward the center of merry-go-round.
© D. in the direction of her velocity
¢ E. none of the above

9. If Suzy lets go of the rail, her path, after she lets go, will

¢ A. be a straight line until another force acts on her
© B. bend toward the center of the merry-go-round

¢ C. bend out away from the merry-go-round

© D. be curved A

© E. none of the above

© F. cannot be determined

10. If Suzy lets go of the rail, she flies off the spinning merry-gd-round because of

c-A. a centrifugal force

¢ B. her inertia |

c C. a force pulling her off
© D. a force pushing her off
c E. none of the above
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